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@ op=x |5 E| 3,325 3,434| 6,759 169 131 300] 5.08 3. 81 4. 44 3,156 3,303| 6,459
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% IPER 4 [E| 2,849 2,906/ 5,755 220 180 400) 7.72 6.19 6. 95 2,629 2,726 5,355
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w sp=x |9 E| 3,218 3,450 6,668 219 181 400] 6.81 5.25 6. 00 2,999 3,269, 6,268
REEME/N HiT[E]

% SRER S E| 2679 2,933 5, 612 206 194 400 7.69 6. 61 1.13 2,473 2,739 5,212
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w op=Ex |9 EI| 2,748 3,065 5,813 109 91 2001 3.97 2.97 3.44 2,639 2,974, 5,613
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= 7p=Ex |9 E 1,877 2,281 4,158 111 89 200] 5.91 3.90 4. 81 1,766 2,192 3,958
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w gp=Ex |9 B 2,300 2389 4,689 118 82 2001 5.13 3.43 4.217 2,182 2,307 4,489

EE=m& IS
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w1 3p=ERx |9 B 2,190 2,472] 4,662 m 89 200 5.07 3.60 4,29 2,079 2,383| 4,462
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A =18 4 [ 31,673 34,675 66,348 1,998 1,702 3,700 6.31 4. 91 5.58 | 29,675 32,973| 62,648
H " B 31,674 34,410 66,084 2,095 1,705 29,579 32,705




